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*question: can you have one imaginary solution222
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Solve the following by completing the square. Derive

the quadratic formula. QR4
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Solve the following by the quadratic formula.
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The DISCRIMINANT

The discriminant determines the type of soitnon and
the number of solutions:
rational or irrational real or imaginary (complex)

b? - 4ac = discriminant
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Positive Perfect Square If the discriminate is a positive perfect square then the
Examples =9, 25, 49 square root can be completely eliminated when the
radical is simplified and no radical will be left over. So
the solution can be written as 2 an
number.
Positive Non Square If the discriminate is positive but NOT a perfect square
Examples =7, 12, 22 then there will still be 2 REAL solutions but the

solutions will be TRRATIONAL since the radical cannot
(2 r be completely eliminated

Describe the nature of the roots using the discriminant.

1. 2x*-8x-14=0 2. 3%+2x+8=0

b?-4Yac B=Uac
(R4 IID) (Y-43XR)
discr= b diser = -9
D el ycrakional Solukions X imeginaiy Sol.
3.3x°-15x+12=0 4. 3x*-10x-7 =
1R 4EXR) C-13] -qcs)c:D
chiser =Bl discr = (G4
QA renl rekional Sol. Q real ircakional Sol.

5, discC=0 | real sol.

Zero T =2 If the discriminate is zero then there will be just 1
Examples = 0 REAL l_{ATI_ONA! solution because adding or
subtracting 0 is equivalent.
Negative If the discriminate is negative then there will bg2
Examples= —3,-9,— 12 |MA_GINARY solutions (there will be an i in the
solution).
5. Matching:

TLa. discriminant is positive <. read ¥ -inA:
T b. discriminantis zero | cea\ %-ink

I c. discriminant is negative 2 0%

Homework~ p. 19 #1-6 and p. 17 & 18 ALL

formula. | can apply properties of the

.I can solve quadratics using the quadratic
discriminant.




	Page 1
	Page 2

